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Bg/cm3
Cs-134 Cs-137 Co-60 Ru-106 Sb-125 Sr-90 -129
ND
3.1E+00 6.3E+00 ( | 1.2E+01 2.5E+01 2.9E+04 9.1E-02
6.6E-01)
ND ND I
A ( o ; 7.0E-04 6.9E-03 9.8E-04 6.9E-03
2.8E-04) 2.8E-04) | ( o« ]« : ( T« :
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(Cs,Co,Ru,Sb) Ge 2L 40,000
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Cs-134 Cs-137 Co-60 Ru-106 Sb-125 Sr-90 -129
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ND ND ND ND ND ND ND
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oo (Cs,Co,Ru,Sb) Ge 2L 40,000
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1/5

2
[Ba/em’] [Bo/em] oo
1 Rbl'§6 3E-01 ND < 7.0E+00 ND < 1.4E-03
2 SE89 3E-01 ND < 3.4E+03 ND < 93E-05
3 SCo0 3E-02 2 OE+04 ND < 1.5E-04
a ol 3E-01 2 OE+04 ND < 1.5E-04 Sr-90
5 Yool 3E-01 ND < 2.1E+02 ND < 4.3E-02
6 N%‘g"’_’ 1E+00 ND < 88E-01 ND < 1.5E-04
7 S S oon 1E+00 3.6E-02 ND < 35E-03
8 RSO3 1E+00 ND < 1.3E+00 ND < 1.5E-04
9 R‘g71(§)6 1E-01 1.2E+01 6.9E-03
10 Rh-103m 2E+02 ND < 1.3E+00 ND < 1.5E-04 Ru-103
11 Rhé%)OG 3E+02 1.2E401 6.9E-03 Ru-106
12 Ag'zé%)om 3E-01 ND < 95E-01 ND < 12E-04
13 cd-113m AE-02 ND < 6.1E+03
HHE
¢) m=mh

FECE
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2/5

2
[Ba/em’] [Bo/em] oo
14 Cd‘j§5m 3E-01 ND < 4.6E+01 ND < 82E-03
15 bl 2E+00 ND < 20E+01 ND < 2.8E-03 Sn-123
16 5”1‘3%3 4E-01 ND < 1.5E+02 ND < 21E-02
17 1586%)%% 2E-01 ND < 7.1E+00 ND < 54E-04
18 Sbel24 3E-01 ND < 1.3E+00 ND < 23E-04
19 Sb‘§25 8E-01 2 5E+01 9.8E-04
20 Te tesm 6E-01 ND < 1.9E+00 ND < 1.3E-04
21 Te-l2om 9E-01 2 5E+01 9.8E-04 Sb-125
22 Teélﬂ 5E+00 ND < 1.5E+02 ND < 1.8E-02
23 Te term 3E-01 ND < 1.5E+02 ND < 19E-02 Te-127
24 Te;%)29 1E+01 ND < 9.4E+01 ND < 1.1E-02
25 Te'éflgm 3E-01 ND < 29E+01 ND < 39E-03
26 16056000 9E-03 9.1E-02 6.9E-03
HHE
¢) m=mN

FECE
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3/5

2
[Ba/em’] [Bo/em] oo
27 Cs 734 6E-02 3.1E+00 ND < 28E-04
28 2050050 6E-01 3.7E-05 ND < 1.7E-09 Cs-137
29 e 530 3E-01 ND < 7.4E-01 ND < 1.2E-04
30 vl 9E-02 6.3E+00 ND < 2.8E-04
31 Ba-137m 8E+02 6.3E+00 ND < 2.8E-04 Cs-137
32 Bai%fo 3E-01 ND < 4.3E+00 ND < 50E-04
33 ce ot 1E+00 ND < 3.5E+00 ND < 27E-04
34 C o 2E-01 ND < 1.6E+01 ND < 98E-04
35 Pr'11744 2E+01 ND < 1.6E+01 ND < 98E-04 Ce-144
36 ProLtam AE+01 ND < 1.6E+01 ND < 9.8E-04 Ce-144
37 Pm‘6146 9E-01 ND < 1.7E+00 ND < 1.9E-04
38 m- e 3E+00 ND < 2.7E+01 ND < 56E-03 Eu-154
39 Pm- 48 3E-01 ND < 22E+00 ND < 1.5E-03
O m=mn

FECE
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4/5

2

[Bg/cm’] [Ba/em’] Basem’]
40 ijf'Sm 5E-01 ND < 94E-01 ND < 1.2E-04
41 Smet 8E+00 ND < 1.3E-01 ND < 2.7E-05 Eu-154
42 Eui%f’z 6E-01 ND < 6.6E+00 ND < 6.2E-04
43 s AE-01 ND < 1.7E+00 ND < 3.6E-04
44 2SS 3E+00 ND < 8.8E+00 ND < 7.2E-04
45 G%jg?’ 3E+00 ND < 82E+00 ND < 4.3E-04
46 Th-260 5E-01 ND < 2.3E+00 ND < 4.2E-04
47 Pu_238 AE-03 ND < 1.8E-03 ND < 1.0E-04 o
48 o AE-03 ND < 1.8E-03 ND < 1.0E-04 o
49 Paad? 4E-03 ND < 1.8E-03 ND < 1.0E-04 o
50 Pu2al 2E-01 ND < 7.9E-02 ND < 4.6E-03 Pu-238
51 Am ot 5E-03 ND < 1.8E-03 ND < 1.0E-04 o
52 Am_gdam 5E-03 ND < 1.1E-04 ND < 6.4E-06 Am-241

O m=mn

FECE




S5/5

2
Ba/em™ [Bg/cm?] [Bg/cm’]
53 A;"A'ng?’ 5E-03 ND < 1.8E-03 ND < 1.0E-04
54 e 6E-02 ND < 1.8E-03 ND < 1.0E-04
55 Cmoeas 6E-03 ND < 1.8E-03 ND < 1.0E-04
56 Cmi§44 7E-03 ND < 1.8E-03 ND < 1.0E-04
57 Moo 1E+00 ND < 7.9E-01 ND < 1.1E-04
58 Figg AE-01 ND < 1.1E+00 ND < 21E-04
59 co-o8 1E+00 ND < 82E-01 ND < 1.2E-04
60 Cozo0 2E-01 ND < 6.6E-01 7.0E-04
61 Nli'o%s 6E+00 1.8E+00 ND < 1.3E-02
62 o 2E-01 ND < 1.5E+00 ND < 24E-04
ND < 1.8E-03 ND < 1.0E-04
HHE
¢) m=mh

FECE
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Bg/cms3
o134 Cs-137 o650 Ru-106 Sb-125 Sr-90
(Ba-137m) (Rh-106) | (Te-125m) | (Y-90)
ND
3.2E+00 6300 | ¢ | 1.3e+01 2 5E+01 3.7E+04
6.6E-01)
4/9"1 : ND ( NP w2 - ( ND ( ND"
ALPS A 17E-04) | 2.1E-04) 2.5E-04 9803 45E-04) | 1.1E-03)
4/12*1 ND *2 *2 *2 *2 *3
( | 47E-04 5.1E-04 9.1E-03 9.7E-04 1.0E-02
2 1E-04)
6E-02 9E-02 2E-01 1E-01 8E-01 3E-02
(Cs.Co,Ru,Sb) Ge 2L 30,000
*1 4/9 4/12
*2  Cs-137(Ba-137m) Co0-60 Sb-125(Te-125m) (ND )
Ru-106(Rh-106) E-04
Ge 45 38
ND
*3 Sr-90 Sr

L
) wE=mh

H24.8
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